Subject:  Issues with Encoding Braille


At what level of coding are we talking?


Coding Braille characters into ISO/IEC 10646


Coding or converting the ISO/IEC 10646 characters into Braille characters


using multiple existing basic (2x3) Braille character cells


using multiple new (2x4) extended Braille character cells (basic Braille character cell plus 2 dots above and basic Braille character cell plus 2 dots below)


Expanding the number of dots in Braille (beyond the existing [2x3] US character cell or the [2x10] extended Braille cell discussed in the Japanese proposal to ISO/IEC JTC1/SC2/WG2 in document WG2 N1279)


Unifying several US Braille coding schemes into one (BRL proposal)


I believe that the answer is 1.a.


Does the Braille system represent presentation forms (glyphs) or characters?


This may depend on the printing model and the coded-input expected by the printer.  (See Figure 1.)  An intelligent printer should take Unicode-coded text and output Braille.  A non-intelligent printer may require the Braille-coded text as input.  However, this question is more about the state of technology than what is possible or an optimal solution.  At this point, Braille printers expect coded-Braille as input.
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I think that Braille is a script that must be added to ISO/IEC 10646, since the mapping from Braille characters to Latin characters is one-to-many (5 schemes in the US).  The mechanism therefore needs to be more like transliteration than one-to-one translation.  For example, depending on the particular Braille system used, a single Braille dot pattern can be


a letter, digit, or punctuation symbol


contraction for a word or pair of letters


a control symbol to indicate upper-case or lower-case or numeric


The dot pattern, the Braille system, and context determines the precise meaning of a dot pattern.


What ANSI or ISO standards exist for Braille?


Check ISO/TC173/SC4.


Is the Japanese proposal a reasonable approach?





